Table S1: Ratio of variances in each PC directions. Superscript (i,j) represents the ratio of variances of

i and jth posture. Subscript (n) represents n" principal component

FH =1 F,%* = 1.0476 F,"* =0.9565
F,*' = 0.9565 %=1 F,%* =0.9130
F;*' = 1.0455 F;** = 1.0952 F33=1

Y =1 F,%* =1.1034 F,'? = 267.8606
F,** = 0.9063 F* =1 F,%? = 242.7487
F,*' =0.0037 F,>* = 0.0041 F33 =

=1 F2=1 F'? = 24.0044

2 =1 =1 F;%? = 24.0044
F3 =0.0417 F33% = 0.0417 F33 =

Table S2: PSI matrix for synthetic dataset

PSI ;= 0.062+1+0.0127 +
1+ 0.0054 * 1 = 0.0800

PSI;, = 0.062 * 0.9565 +
0.0127  0.9063 + 0.0054 x 1 =
0.0762

PSI; 5 = 0.062 * 0.9565 +
0.0127 * 0.0037 + 0.0054 x
0.0417 = 0.059

PSI,, = 0.062 * 0.9565 +
0.0127  0.9063 + 0.0054 x 1 =

PSI,, = 0.062 1+ 0.0127 +
1+ 0.0054 * 1 = 0.0800

PSI,5 = 0.062 * 0.9130 +
0.0127 * 0.0041 + 0.0054 x

0.0762 0.0417 = 0.056
PSI3,; = 0.062 * 0.9565 + PSI5, = 0.062 * 0.9130 + PSI3; = 0.062 1+ 0.0127 * 1
0.0127 % 0.0037 + 0.0054 = 0.0127 = 0.0041 + 0.0054 = + 0.0054 %1
0.0417 = 0.059 0.0417 = 0.056 = 0.0800
Table S3: Normalized Posture Similarity Index (N PSI) for synthetic dataset

1 0.9464 0.7337

0.9464 1 0.6977

0.7337 0.6977 1
Table S4: PSI matrix for experimental test dataset

PSIl,l = 0.1152 PSIl,Z = 0.0873 PSIl,g = 0.103

PSIZ,l = 0.0873

PSIZ,Z = 0.1152

PSI,, = 0.0808

PSI3'1 == 0.103

PSl;, = 0.0808

PSIS'3 == 0.1152

Table S5: Normalized PSI matrix for experimental test dataset

PSIl,l = 1

PSIl,Z == 0.7573

PSI, , = 0.8934

PSIZ,I ES 0.7573

PSIZ,Z = 1

PSIZ'3 == 0.7012

PSI;, = 0.8934

P513'2 = 0.7012

PSI3,3 = 1




